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goooooO0ooOooO0ooooo1t1 O
Send (0x7FFF, 10)0 0000000000
0000o0x7FFFOI100000 327670000
goomoooooooooooooooo

0000 10event1.j3c
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0000 20event2.j3c
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goooooooooooooooooooo
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n=GetCommon(J OO DO)0O0O0O0OOOnO
gooooooooUoooooooooooo
SetCommon( , 00O D0)000OO0OOOOO

// 0000000000000 00OO
class Receiverl {
int INITQO) {

RQ = RX; // 00000000000000
}
int RUNQ) {

Wait(); // 0000000000
}

int EVENT() {
switch(RL) {

case 1 :
Char(’[’);
Number(RQ); // O00OOOODOO
String("] recieve 1"); Char(13);
break;

default :
Char(’ [’);
Number (RQ) ;
String("] recieve Unknown Message :");
Number(RL); // 000D0O0000O0DOO
Char (13);

// 00000000000

// 0000000000000 DO000ODO0O00oOoO
class main {
volatile int key;

int INIT() {

RX = 1; // 00000000000 O0Ooo0oO
new(Receiverl, 50); // Receiver 00U O OOODOODO 10
RX = 2;
new(Receiverl, 50); // Receiver 00U OOOODOODO20
RX = 3;
new(Receiverl, 50); // Receiver U000 OOOODODO30O
}
int RUNQ) {
key = InKey(); // 0000000
ample.tar.gzwitch (key) {
case 0x1B : Stop(); // ESCOOOOO
break;
case A’ : Send(1, 1); // 1000000000 1000
break;
case B’ : Send(2, 1); // 20000000001000
break;
case ’C’ : Send(3, 1); // 3000000000 1000
break;
case ’1’ : Send(Ox7FFF, 10); // 000O0OOO0OOOO
break; // 010000
case ’2° : Send(O0x7FFF, 20); // 0000O0O0O0OOOO
break; // 020000
}
}
int EVENT() {}

}

// 000000000000 0000O
class Receiver2 {
volatile int 1i;

int SetID() {

i = GetCommon(0); // ODOOOOOOOODOODODO

i=1+1;
RQ = i; // 0000000000o0oO
SetCommon (i, 0); // 00000o00O0OOODODO
}
int INIT() {
SetID();
}
int RUNQ) {
Wait(); // 0000000000
}

int EVENT() {
switch(RL) {

case 1 :
Char(°’ [*);
Number(RQ); // 00OO0OO0OOOO
String("] recieve 1"); Char(13);
break;

default :
Char(’[’);
Number (RQ) ;
String("] recieve Unknown Message :");
Number(RL); // 00D0O00000DOO0O
Char(13);

case 1

// 00000000000

: break;

// 0000000000000C0CO0O00OoOoOoooo
class main {
final int N = 20;
volatile int i, key;

// 00000000

int INITO {
SetCommon (0, 0); // 00000o0Oooooon
for (i=0; i<N; i=i+1) // NOOOOOOOOOOO
new(Receiver2, 50); // Receiver U0 OO OODODODO

}
int RUNQ) {
key = InKey(Q); // 0000000
if (key == 0x1B) Stop(); // ESCOOO0DO0O
if ((key>=’A’) & (key <= °Z?))// [A]-[zZ]0000000000O0O
Send(key-’@’, 1); // 1000
if ((key>="0") & (key<=’9’)) // [11-[910000000O0OOOO
Send (0x7FFF, key); // keyO OO
}
int EVENT() {}
+
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class fps {

volatile int time, timeO, timel;
volatile int fps, fpsO, fpsi;

int start() {
time0 = SystemTime();
count0 = SystemCount();
Pause (300);

int update_time() {
gCursor(2 + 24 * 80);
timel = SystemTime();
time = timel - timeO;
countl = SystemCount();
count = countl - countO;
count = count * 1000;
fps = count / (time / 10);
fpsO = fps/10;
fpsl = fps - fpsO * 10
gNumber (£ps0) ;
gString(".");
gumber (fps1) ;
gString(" FPS ");

int INITO {

start();

}

int RUN(Q) {
update_time();
Pause(100);

}

int EVENTO) {}

volatile int count, countO, countil;

// 00000
// 0000000000

// 000002, 24)00
// 00000
// 00000000

// 00000000
// 10msec
// 000

// 0000010
// 00000

// 000000
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0000 40rad_line.j3c

class RadialLine {
volatile int n;
volatile int m;

int Line2D(int n, int color, int x1, int y1, int x2, int y2) {

PushRegisters(); // 000000000
RB = n; // 00000000 990
RZ = color; // 00000
RX = x1 + 320; RY = y1 + 240; // 000000000o00DODO
RH = x2 + 320; RP = y2 + 240; // 00
gline(); // 0000O00DODO
PopRegisters(); // 000000000
}
int RadialLine(int color, int rO, int rl, int d) {
volatile int i, cosA, sinA;
for (i=0; i<36; i=i+1) { // 1000000000000
cosA = cos(i * 80 + d * 8);

sinA = sin(i * 80 + d * 8);
if (1 -1/ 9 %9 ==0) // 900000000000
Line2D(i, color-1, cosA * (r0-10)/10000, sinA *(r0-10)/10000,
cosA * (r1+10)/10000, sinA * (r1+10)/10000)
else
Line2D(i, color, cosA * r0 / 10000, sinA * r0 / 10000,
cosA * rl / 10000, sinA * rl / 10000)

int INITO) {
n = 0;
m= 2;

gColor(7); // 00000

int RUN(Q) {
RadialLine(7, 80,
gCursor (13*80+38) ;
gString("Angle:");

100, n);
// 00000000000

gNumber (n) ;

gString(" "); // 000000O0O0O0OOOODO
if (n >= 180) m = -2;

if (n < -180) m 2;

n=n+m;

Pause(20);

int EVENT() { }

7 et
ri1
r1+sin @
6
rlcos® r2xcos6

00010000 50main_2d.j3c000000

0000 50main_2d.j3c

import "rad_line.j3c";

import "fps.j3c";

class main {
volatile int key;
int INITO {
new(RadiallLine, 50);
new(fps, 50);
BackgroundColor (0x000); // 0000 OO
GraphMode();// 0D O0OOUOOOOODOOOODOO

// 000000000

¥
int RUNQ) {
key = InKey(); // 0000000
if (key == 0x1B) Stop();// EsSCOOOOO
¥

int EVENTO {}
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